il I H ¥R
4H164 128130 4MEH E&:Eh HEgEs( MUAREER )
-+
Sy 7 >
[HF3¢] 46 =
B 5 HrelE | FEEM [ B | 8§ E F Z {5 | @R i B s | FEEM | B &= 18 FfE Z fE | &R
x i) 3600 & W& | 10kg| 1800] 1400] 1100] O
A = 6470 £ & | 10kg| 2600/ 1800 7000 = 11
i 1R 1208 [ (i | 4keg 2000/ 1400] 1000| O | & % 325 & #i | 0.2kg 110 105 100, A
L % % 15] & #i | 0.2kg 100
/N A X 898 & #i | 0.2kg 120 110 100, A
H % 10068| [ (i | 15kg| 2600 2300 1400 A | = v 5 95 K % = 130 100 70 A
¥ vy NY 4090 & & | 10kg 2800 2000] °A | [& % 81| M i | 0.lkg 140 130 10| A
kUL v E 416 M 4 | lke 800 600 500~ | [& = 7 & % | O.lke 100 A
5 e 3200 M W | lkg 1000 630 300 # = 7 W 1 | 0.5kg | 6000 A
= % 1242] ®M i | 3ke 2500/ 1800 1000[ A
7 AN AR M | 0.lkg RLR % & A 500/ & H | 10kg 4800 4500] 4000 “
70y a3y — 240| % & | 6kg 4200] 4000 A | » = — L & = 120 % M | 4ke 2200/ 2000] 1000| A
HV T 5T — (i | 6kg 2 7 ) — vy —37 40| & M | 4ke 2200/ 2000 A
t Ny = 90| & M | 10kg 5000 A
# i 755 = & | 5ke 3500/ 3000] 2000] A
i JI it ¥ & | 10kg
X ¥ D] #% [ | 0.2kg RLX
i + 318] #& & | 4ke 2500/ 2000 A
k < K 1700] & #i | 4keg 3000/ 2500 1800 A | ¥ v » v ¥ +« 60 & # | 0.2kg 100 A
3 = b % & 516] M (i |0.2kg 250 200 130] A
¥ - < v 390 = & [0.13kg 120 110 1005 Al L L ¥ > 30| & % | 0.lkg 300 270] A
1 v v 80| & & | 2kg | 4500/ 3500, 2600 A | H &l h 22| & B | 0.lkg 24 A
18 X X 10l & R & | 1kg 3500 2500] A
2 F v 7 58 B R B | lkg 1500/  1300] 1100 A | = v = 7 8] & & kg 2700/ 2500/  2300] A
# 25 = EAII 4kg A
£ = & & | 4ke 3000 2800 A
H £ 2980 # & | 5ke 2100|1600 600 O ||
B b E dt # & | 10kg [N Z Vi 5 & AN
A = 7 4 v i ¥ & | 10kg rX & 4 | Fvb
E ¥ i ¥ & | 10kg RLZ x = 58 ® &l | 0.1kg 650 340 A
x = it ¥ & | 20kg NS
& i | 10ke ¥ 5 & A5 L B E | 10kg
R - 95| @ i |O0.1kg 130 110 100 E % | 5kg
T J *x E 960 & % |0.2ks 120 115 110
min Oy A RES AREE VA BRAe LB




